SuMPO EPD

SuMPO

FEPD  ssnmsss (rp)

VERIFIED

Z#H%&ES © JR-BP-25001E

TERLAKAZH
ACHILLES CORPORATION

Achilles

PFLIKRAEH

SUMPOBRIEINILTOIS s
— B FEEAY AT T IR E HEE S
BRBTREXAHEHT-14-8
KANDA SQUARE GATE
https://ecoleaf-label jp

TXLRR—KRGF/o70V (BERE)
Achilles Board GF non-fluorocarbon (high density)

7RIV TSRS T R

BMEILRT+—L

7IVTRANH T R

B
5 1 kg

HEXTRERPE

=33 Ltk

MR ¢ BLEERPE

(A1 EMEIFE, A2 TIHAOERX, A3 £7E)

IR ¢ BERERRE, EFRERRE. BEEE- UYL ERBE
HMmOB, TETR-FET

B BEULIYIA- LB

SEEE : 1.0~4.0 kg/m

FEGEEYA  BAIE-TH

FWEhHEE

RREFHEXIHE2-21-1 FHEIOVHIT-
TELAKRA S BIEEMB U

TEL:03-5338-9544
https://www.achilles—dannetu.jp/

EBES JR-BP-25001E
#ERAPCRES  PA-240000-BP-01
PCR#% BEMRBLOREM R
NSS! 202549A1H
BWIEETEE 202548850

REEA BRI A
BRIAES JV-BP-25001

WMETEhEAR 203048848
PCRLEI-DETE
BEHS 2023F 118 7H
EER BB Ex
(FRIE : — St A Y AT F IR 2 i 1)
B HRIE
NEBIREEE  REE RE
1ISO140258 KT ISO21930(C > AR E E RUT-F DRI
TREE
OmRER WA
*AF AR B EEENORIDE S, YATARIET-LEEED
2 FEDH,

E85&FS 1 JR-BP-25001E


tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544
tel:03-5338-9544

SuMPO EPD SUMPORIESNILTOIS A

SEUME;)D _ — R BE AP AT T IR B
y '. D sq471BBESE= (EPD) FRBF RBEAME-14-8
VERIFIED KANDA SQUARE GATE

Zi%%&E= . JR-BP-25001E https://ecoleaf-label jp

OF17Y1 )V REEF TSR

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 3.9 | kg-CO2eq
AV BHEE 1.1E-06 | kg-CFC-11eq
EREl 2.8E-03|kg-PO.3-eq
[7ye(e 4.2E-03| kg-SO2eq
FHALZAFII VB 3.1E-03| kg-C;Haeq
m AR E u T~ D% mAERE
2F JBH| HEfI aF EMEIRE TisA0#%|  4EE - -
S[URZE) kg-CO.eq | 3.9E+00 3.1E+00 6.9E-02 7.9E-01 - -
AV EBRRIE kg-CFC-11eq| 1.1E-06 1.1E-06 9.3E-13 7.7E-08 - -
7y e kg-SOzeq | 4.2E-03 3.0E-03 2.0E-04 9.7E-04 - -
HHHAER kg-SO.eq | 3.0E-03 2.2E-03 8.0E-05 7.7E-04 - -
HAEFAFIIV kg-C:Hseq | 3.1E-03 1.1E-04 5.0E-07 3.0E-03 - -
BECEMEFEDIAM) kg-CsHeeq | 1.7E-03 1.6E-03 3.4E-07 2.3E-05 - -
BECEYE(IBMH) kg-CeHeeq | 1.1E-04 1.1E-04 2.2E-07 2.1E-06 - -
KEERSE kg-CeHeeq | 8.0E-03 7.4E-03 1.1E-08 6.6E-04 - -
R A REES M kg-CsHeeq | 2.6E-01 2.5E-01 1.8E-07 1.5E-02 - -
=REL kg-PO.*eq| 2.8E-03 2.8E-03 7.1E-13 3.4E-07 - -
1 HOF) FA () m%/ & 1.4E-01 1.3E-01 8.0E-03 1.9€-03 - -
+ ) B (B E) m*/ 5 3.6E-03 3.4E-03 1.6E-04 5.0E-05 - -
BERHEE kg-Sbeq 3.7E-05 3.3E-05 2.9E-07 3.7E-06 - -
IEH Hif #H-9E (ERES) Bifif
EBEFREER 2.7E-01 kg RUAYYTHF GRURFLYRYTIZNARY LY TH-k (PMPPY) 48 %
BEATREIRILF- 5.2E+00 MJ M (ZOMBOEMILFTERS) 14 %
FEBFERREIRILY - 7.6E+01 MJ RUI-TIVRYA-)L 12 %
BEARER 1.3E+00 kg HIRE (ZOMBOERSTERS) 6.2 %
HKDHE 1.0E-01 m? F8% (ZOBOBRILS TERS) 5.2 %
RUI-FIRUA-)L 5.0 %
HE, CO2(b B &R, AR, FHEE | 3.6E+00 kg RUIATIVRYA=IL 3.7 %
R, i, 447M)/kg, B, B s an- | 1.1E+00 kg RUTIATIVRY A=)V 3.7 %
P, ERUERIAY, AR, REE | 1.8E-08 kg Wamt 0.67 %
Bar (RENEEAD) 0.25 %
@FEZEYESEIF HINE (ZOMOEHE TERR) 0.17 %
IEH Hif
BEREY 0.0E+00 kg
EEEEY 6.7E-02 kg
—REEZEY) 1BITY) 6.1E-02 kg
EEREZRY BuY 6.2E-03 kg

HIATHAINICBIBREEYEERLTVET,



SUMPOBRIESANIN IO

SuMPO SUMPO EPD B AY AT F IR E S
SA4TNEBEEE (EPD) SERT (L EXPHE1-14-8
VERIFIED KANDA SQUARE GATE
BikES - JR-BP-25001E https://ecoleaf-label jp

OHEERRCETSEMER
"B TTH SHIRSEE COER R B R L TRAIL, MR FRIIMRTTICRRALL,
- REM DR, BEERREOBE H U,

©®-1.Z0tDIREREEIR
ISOT14001ERsEEIS TIH CEELTVES, (B#FES © JUSE-EG-661)

©-2.5EMEHEICET31EH

IHH CAS No. EDE
AFLVER@A-TIZLY)=I1YYTF-b | 101-68-8 PRTRE. FEIREHEE

@DERALEZRT-YDER A
IDEA ver3.1.0&{EAL~,

®fF%E

OT-YHEENHEF. PCRELVEE - EEHRBESRL TR,
OLLEIIOWTR, EE - EEREICRESNREEB/LLILSGELLIZEHONEEA,
(B BB5URL ! https://ecoleaf-label jp/regulation/)
E#x&ES ¢ JR-BP-25001E



